

1. **DEPARTMENT INFORMATION:**

| Department: | Library |
|----------------|---------|
| Division/Unit: | LUEG |

2. VOLUNTEER PROGRAM BENEFITS:

a. GENERAL VOLUNTEERS (this section should include community volunteer, student intern, groups, corporations, etc).

| No. of Vol. | 1,646 Hours | 73237 | X | \$37.32 | = | \$2,733,204.84 |
|-------------|-------------|-------|---|---------|---|----------------|
|-------------|-------------|-------|---|---------|---|----------------|

Types of work performed by GENERAL VOLUNTEERS in this category:

General volunteers help with: clerical work, branch events, shelving, paging list, program assistant, outreach, assist with storytime, help students with homework, fundraising and FOL bookstore.

b. INSTITUTIONAL VOLUNTEERS (this section should include honor camp inmates, PIC/RETC, GAIN, etc.)

| No. of Vol. | 0 Hours | 0 | X | \$37.32 = | \$0.00 |
|----------------|---------|---|------------|-----------|--------|
| 1 10. 01 1 01. | O HOUIS | U | 4 L | Ψυ1.υμ — | Ψ0.00 |

Types of work performed by INSTITUTIONAL VOLUNTEERS in this category:

Instutitional volunteers perform work which includes: clerical work, sorting books and materials for delivery to branches, hauling boxes of books and shelving.

c. SPECIALIZED VOLUNTEERS (this section should include utilization of Special Volunteers in positions requiring specific skills and/or expertise levels, for example, an attorney, physician, sports figure or celebrity). These specialized positions have verifiable compensation levels (VCL). If you have such a volunteer, please indicate the position, hours and compensation level

| <u>Position</u> | | <u>Hours</u> | X | <u>VCL</u> | = | Dollar Benefit |
|------------------------|-------------|--------------|---|------------|------|----------------|
| Attorney | _ | 0 | | \$84.91 | | \$0.00 |
| Financial Consultant | | 0 | | \$65.92 | | \$0.00 |
| Housing Counselor | | 166 | | \$27.53 | | \$4,569.98 |
| Instructor | | 548 | | \$26.68 | | \$14,620.64 |
| Instructor Citizenship | | 10 | | \$40.90 | | \$409.00 |
| Instructor Language | | 329 | | \$40.90 | | \$13,456.10 |
| Librarian | | 0 | | \$38.82 | | \$0.00 |
| Literacy | | 74 | | \$40.90 | | \$3,026.60 |
| Musician | | 173 | | \$48.53 | | \$8,395.69 |
| Physican | | 470 | | \$110.30 | | \$51,841.00 |
| Therapy Dog Handler | - | 229 | | \$20.14 | | 4612.06 |
| No. of Vol. | Total Hours | 1,999 | | Total Valu | ie = | \$100,931.07 |

Types of work performed by SPECIALIZED VOLUNTEERS in this category: Instructors provide a wide variety of workshops for customers on topics such as English as a second language, parenting skills, computer applications and yoga. Financial consultants, counselors and attorneys bring their expertise in advising library users on housing, retirement, instantian and head action. We have a world L. E. A. P. N. the libraries literature and the decimal actions and the standard providers and the standard providers.

investment and budgeting. Volunteers with L.E.A.R.N, the libraries literacy program. serve as tutors for English speakers that read below the 5th grade level, as well as new immigrants learning English.

d. TOTALS OF DEPARTMENT VOLUNTEERS (from above):

| <u>No. of V</u> | <u>'olunteers</u> | <u>Hours</u> | <u>Dollar Benefit</u> | | |
|-----------------|-------------------|--------------|-----------------------|--|--|
| 2a. | 1,646 | 73237 | \$2,733,204.84 | | |
| 2b. | 0 | 0 | \$0.00 | | |

| 2c. | 126 | | 1,999 | | | \$100,931.07 |
|---|-----------------------------|----------|------------------|---------|---------------|--------------------|
| Total Vol. | 1,772 Hour | :S | 75,236 | Total | Value = | \$2,834,135.91 |
| DONATIONS TO | O VOLUNTEER | PROC | GRAM: | | | |
| Please list all dona | ations to the depar | tment's | Volunteer progr | am in | cluding mone | tary donations and |
| tangible/intangible assign a fair mark | | | - | | • | |
| Item Donated: | | | | | Value: | |
| Item Donated: | | | | | Value: | |
| Item Donated: | | | | | Value: | |
| Item Donated: | | | | | | |
| Item Donated: | | | | | Value: | |
| | | | TOTAL VALU | E = | | \$0.00 |
| b. Cost of program of coordinator(s)). description prepar | This section shou | ald incl | ude coordination | of sta | - | |
| Hours | 2313 X | Rate | \$28.36 | = | | \$65,596.68 |
| c. Other program | costs (volunteer t | raining | materials/suppli | es, rec | ognition cost | s, etc.): |
| | <u>Item</u> | | | | | <u>Cost</u> |
| Other prgoram comultiplied by hour | rly rate of SDCL-l | HR staf | f processing | | | |
| volunteer applicat volunteer report, e | | ats, pre | paring annual | | . <u> </u> | \$30,380.91 |
| | | | | | | |
| TOTAL OF OT | THER PROGRAM | 1 COST | TS | = | | \$30,380.91 |
| d. TOTAL OF VO | OLUNTEER PRO 4b, and 4c) | GRAM | I COST | = | | \$116,907.27 |

3.

4.

5. NET BENEFIT TO DEPARTMENT FROM VOLUNTEER PROGRAM:

a. Total Dollar Benefits of Volunteers, Item 2d (Page 2) \$2,834,135.91
b. Total of Donations to Volunteer Program, Item 3 (Page 2) \$0.00

c. Subtract Total of Program Costs, Item 4d (Page 3) \$116,907.27

TOTAL PROGRAM BENEFIT

\$2,717,228.64

6. RECRUITING:

Please describe your recruiting programs:

Library staff encourage potential customers to get involved as volunteers in branch volunteer program advertising in addition to county online website, media releases for specific volunteer needs and onsite applications at community events and job fairs. We seek opportunities to partner with other county departments, so that county volunteers who are already on board are provided with more opportunities to share their expertise at different locations.

7. SPECIAL VOLUNTEER PROGRAM ACTIVITIES/ACHIEVEMENTS:

Please describe any special activities and/or achievements your program was involved in during the period of this report:

The library had the honor of recognizing 2 Volunteers of the Year.

| 8. | VOLUNTEER PROGRAM GOALS FOR FISCAL YEAR 2022-23: Please describe your program goals. Include activities, number of volunteers, recruitment, training, recognition and other goals: To provide opportunities to people to give back to their local community. | | | | | | | |
|----|--|------------------------------|-------------|------------------|---------|------------------------|--|--|
| | | | | | | | | |
| | | | | | | | | |
| | | | | | | | | |
| | | | | | | | | |
| | | | | | | | | |
| | | | | | | | | |
| | CENTE | | an. | | | | | |
| 9. | GENER | RAL INFORMATIO | | | | | | |
| | Name of | Name of person completing re | report: | Renuka Pottathil | | | | |
| | Phone: | 858-583-5552 | Mail Stop: | O-70 | E-Mail: | Renuka.Pottathil@sdcou | | |
| | Volunte | er Coordinator: | Renuka Pott | tathil | | | | |

E-Mail:

07/18/2023

DATE

Renuka.Pottathil@sdcou

Phone: 858-583-5552 Mail Stop: O-70

DEPARTMENT HEAD SIGNATURE

10. DEPARTMENT CERTIFICATION: